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Summary 

 

We can conclude here that the iso cost line depends upon two 

things: a) prices of the factors of production and b) the total 

outlay which the firm has to make on the factors. Given these 

two things an iso cost line can be drawn. 

In case of least cost combination we can conclude about the 

entrepreneur’s choice of the quantities of the two factors, that 

the entrepreneur will be in equilibrium in regard to his use and 

purchases of the two factors when he is using such quantities of 

the two factors that the marginal physical products of the two 

factors are proportional to the factor prices. And in case of output 

maximization for a given level of outlay i.e. cost we can conclude 

that with the given level of outlay there will be a single iso-cost 

line that represents the outlay that firm has decided to spend and 

a rational producer will be interested in maximizing output of the 

commodity. 

The expansion path represents minimum cost combinations for 

various levels of output, it shows the cheapest way of producing 

each output, given the relative prices of the factors and when 

both the factors are variable and the prices of factors are given, 

a rational entrepreneur will seek to produce at one point or the 

other on the expansion path. 

 


